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1 Introduction

In RAN4 meeting #68bis, most of FeICIC CSI tests were finalized and the agreements were captured in [1~3]. There are two remaining issues:
· The test metric and requirements for Test-3 of FeICIC RI test;

· Confirm the CSI requirements for TDD.

In this contribution we focus on RI tests.
2 Discussion
2.1 Rank test

In the previous meeting it was agreed to introduce Test 1~3 for FeICIC RI test. The agreements were captured in CR [3]. In this section, we provide the simulation results and give our proposal on the test 3 performance metrics. The correlation matrix for the serving cell is high, while the matrices for the aggressor cells are low. All the simulations are based on the agreed simulation assumptions.
Figure 1 provides the simulation results and Table 1 summarized the results.
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a) 2x2 low for both serving and aggressor cells 


b) 2x2 high for serving cell and 2x2 low for aggressor cells
Figure 1:  The  and  with different antenna configuration

Table 1: Evaluation results of 1 and 2 for the different test cases
	
	Test 1 (4dB)
	Test 2 (20dB)
	Test 3 (20dB)

	1
	1.00
	1.31
	0.98

	2
	1.19
	1.00
	1.15


From the above results, it could be observed that:

· UE can pass the existed cases of Test 1 and Test 2.
· The rank adaptation gain of UE is larger than 1=0.9 or 2=1.1.
To align it with the Rel-11 existing CRS based RI test and CSI-RS based RI test (not RI test for eICIC without CRS-IC), we propose that
· Proposal: Define 1=0.9 as the requirement for FeICIC RI Test 3.
3 Conclusion
In this paper, we provide simulation results for FeICIC CSI test cases and give our suggestion on RI Test 3. We propose that
· Proposal: Define 1=0.9 as the requirement for FeICIC RI Test 3.
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